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==
S F 0ff &Y F=Z 0 At s MEZH
= & =
Sl el JIEHOI 2 O Rh =& 10,000 10,000 0| GI2(Z4&H0IXF2 = 10,0002

M A 713,969,000 689, 309,000 -24,660,000
(gorde=2)
OlZ2&0Q! 21 HHl EX @ 42,200,000
(2x2)
EMK S0 (58x12”) : 170,733,400

20 301,468,400 287,933,400 -13,535,000 | (#=2AHY)
&t 75,000,000
OI=Z0HQI(1) 250,0008 * 3% * 128 = 9,000,000
Ol 2E0HQI(2) 500,0002 * 9 * 1228 = 54,000,000
Ol 2E0HQI(3) 2,060,7402 » 2 = 128 = 49,457,800
(golme=2)
ZAMK BRI 0 150,0002 x 122 = 1,800,000
(2x32)
ZEAESE S 1 90,0002 x5 x 122=5,400,000
(£=2AY)
&t 6,200,000

M==< 59,476,700 53,907,840 -5,568,860
—ZHOHQI2R2 X HEZR4E 1 400,000
-EOI 22X BESE(14%) 4,000,000
R RACHEHQI2ZX}) ¢ 1,800,000
(2x2)
&2 40,507,840
- JIE4E(3Y), AE2Z4Y(20A12Hx128), HE SIHHI(2
3), NeEaLa

gz 2 EHNNEYS 29,845,200 27,863,930 -1,981,270 [ (£=2AFY)
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n=
= 0] AroH F=E0 A s ME2AH
= &t =
(A 2UAH)
+8H L 222 7,290,000 8,226,000 936,000
MAE BUE QE 442 U ADE 2OIH| : 1,350,0002
($=2UAFS)
2292 x 128 : 1,000,0002
zze=2 10,700,000 10,700,000 0
(Bx2)
SAH(HsH BA QIEU), ®I|2, ASAER2 = : 9,700
000
(F=2UAFR)
B 1,000,0002
- 2= B34l : 500,0008
- 2= MIZ : 500,0009
(Bx3)
=3 &7 5,000,000
MM 202 6,000,000 6,000,000 0|- M=xHAI(23]) : 300,000
- B32HUHI(123]) : 2,600,000
- BHEES(S13]) : 940,0008!
- SUINLEB(A13]) : 40,0002
- NAYEEE(M13]) 1 20,0002
- G=EXEE2(201) : 1,000,0008
- MHExsESL2(23]) ¢ 100,000
(4=2AFS)
Z=QH|, ALY : 500,002
PN 4,500,000 4,500,000 0
(Bx2)
=oH|, X2 22| &bl : 4,000,0002
KHAHE S H 5,000,000 5,000,000 0] (+2UAre)
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1o

S 04 A2l 2=20fl & =% MBI
2 8 =

A& JIXH 22 @ 2,000,000

XS S b 5,000,000 5,000,000 (2x2)
CSEH DM Y HIE 2Ll ¢ 3,000,000
(22A2)
A& ==2la=4&H| @ 2,000,000

TMAZAH | Al (2x2)

2 5,000,000

A& = S X HI 7,000,000 7,000,000
IO AB2IHI(123]) ¢ 1,400,0008
HI|®IIrM E>A (128]) : 1,100,000
SAIIEIIZAN1S]) : 100,000&
CE AIE S2Ia4H ¢ 2,400,008
(2x2)
Ol =&l =AIH| 80,0002 +x15H+12& : 14,400,000
(220Ar2)

A4 | 16,700,000 16,700,000
OlZ2&0Cl 241 HIE : 2,000,000
(z22)
ZOHIZ2 2 F=AH Y 2EH| 300,000

A HI 29| (2x2)

o2 200,000 200,000
OIZX BIAFGHE 2l 1 200,000
(222)
22X YENHZH| ¢ 1,000,000

e X=Tb V] 201,000,000 201,000,000 (220Are)
2 200,000,000
- AKX F2Hl © 194,000,000
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]
Jo

SEJPNET 2= 0j aro =% aE2
2 8 =
- Y (AIB,£8)2& EFHl : 1,000,000
- AF BUHE |8 24E 224 € +==2 : 1,000,000
- REYS Y EHES 23 ¢ 500,000
XA A2l 201,000,000 201,000,000 0f-2t= & dXZHM == : 500,000&
234l - SIMXIMI2E 2fE A= ¢ 1,000,000
- XY =70 & =24l : 1,000,000&
- MADIXHH ==2/dl @ 1,000,000
(223)
Sg =4l 400,000 400,000 0
At OIZHO0HC! 2tAl HIE : 400,000
(=2UAH)
B Al 5,000, 000&
HATHE AHHI 5,000,000 5,000,000 0
-2gd 2= : 1,000,000
-HYMEEd T2IOUHI(SEH# AL S) ¢ 4,000,000
Akt
(223)
271l 800,0002
AtZ I 800,000 800,000 0
- NHEE2Y ARHI ¢ 400,000
- &St AbHl ¢ 400,000
(==2AtY)
ooty 15,000,000 15,000,000 0 A FAL 32—4 MUY E4E 8 FH L JE0FS 15
al 2|
el 2 2l gy g iy /000,000
(2x32)
gtet = 3,000 3,000 0
Ol=(Z 40Xt~ : 3,0008
ES] 713,969,000 689,309,000 ~24,660,000
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